Computer Science Model Paper 2'

Time: 15 Minutes | (Objective Type)|  Marks: 43|
Note: Four possible answers A, B, C and D to each quesg
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are given. The choice which you think is correct, fi| thar:
circle in front of that question with Marker or Pen ink y
the answer-book. Cutting or filling two or more circlgg
will result in zero mark in'that question. .~~~

. is a software that is responsible for thg
conversion of program_ files to maching
understandable and executable code.

- (a) Compilerv . (b) Editor -
(c) IDE ~ (d) Debugger

___are the values that do not change during the
whole execution of program. 5 G »

~ (a) Variables . . (b) Constants v

. (c) Strings (d) Comments
getch() is used to take _____as input from user.
(a) int  (b) float = .

(c) charv " (d) Al of them -

The operator % is used to calculate __

" (a) Percentage - (b),Remainder v’

‘(c) Factorial © ~ (d) Square

statements describe the sequence in which
statements of the program should be executed.

(a) Loop. (b) Conditional

(c) Control (d) Allv

A condition can be any expression.

(a) Arithmetic (b) - Relational

(c¢) Logical (d) Arithmetic, relational or logical ¥
is the unique identifier, used to refer to the

array. ‘

(a) Data Type (b) Array name v

(c) Arraysize ' (d) None
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- (c) Re-wntlng © (d) Including

To initialize the array in-a smgle statement |n|t|al|ze |

it____ declaration.

(a) At the time of~/ (b) After

'(c) Before - (d) Both (a) & (b)
" The functions Wthh are avallable in C Standard ;

Library are called __'_‘__

(a) User-defined (b) Built-in v

- (c) Recursive 7 :(d) Repetltlve
| means to transfer the control to another.
function. ‘*_ | Lo -
(a) Calling v ;(b) Defining S
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